
Flow control valves GRO, in-line installation



Subject to change – 2018/052 � Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Product range overview and type codes

Product range overview

Version Valve function Version Type Connection

direction

Pneumatic

connection 2

Pneumatic

connection 1

qnN1) Adjustment

component

� Page/

Internet

[l/min]

In-line

installation

Metal

Flow control

function

GRO Inline M5, Gx M5, Gx 105 … 210 Knurled screw 3

Flow control

function

GRO Inline G¼ G¼ 350 Knurled screw 3

Polymer

Flow control

function

GRO Inline QS-3, QS-4,

QS-6

QS-3, QS-4,

QS-6

85 … 245 Knurled screw 6

1) Standard nominal flow rate in direction of flow control.

Type codes

GRO – QS-4 –  

Type

GRO Flow control valve, in-line installation

Pneumatic connection 1 and 2

M5 Female thread M5

1/8 Female thread Gx

1/4 Female thread G¼

QS-3 Push-in connector for tubing O.D. 3 mm

QS-4 Push-in connector for tubing O.D. 4 mm

QS-6 Push-in connector for tubing O.D. 6 mm

Generation

B B series
 

 

 

 

 

 



2018/05 – Subject to change 3� Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Technical data – Female thread, metal

Function -M- Flow rate

105 … 350 l/min

-Q- Temperature range

–20 … +60 °C

-L- Operating pressure

0 … 10 bar

GRO-M5, GRO-1/8 GRO-1/4

General technical data

Valve function Flow control function

Pneumatic connection 1 M5 Gx G¼

Pneumatic connection 2 M5 Gx G¼

Adjustment component Knurled screw

Type of mounting Front panel mounting Inline installation

Via through-hole –

Mounting position Any

Operating and environmental conditions

Pneumatic connection 1 M5 Gx G¼

Operating pressure [bar] 0 … 10

Operating medium Compressed air in accordance with ISO 8573­1:2010 [7:4:4]

Note on operating/pilot medium Operation with lubricated medium possible (in which case lubricated operation will always be required)

Ambient temperature [°C] –20 … +60

Temperature of medium [°C] –20 … +60

Storage temperature [°C] –20 … +40 –20 … +60

Standard nominal flow rate qnN at 6 > 5 bar as a function of turns of the adjusting screw n

GRO-M5-B, GRO-1/8-B GRO-1/4

GRO-M5-B

GRO-1/8-B

GRO-1/4

Materials

Sectional view

Flow control valve

1 Adjusting screw GRO-M5-B, GRO-1/8-B: High-alloy steel

GRO-1/4: Galvanised steel

2 Housing, nut Wrought aluminium alloy

– Seals NBR

Note on materials RoHS-compliant

1

2



Subject to change – 2018/054 � Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Technical data – Female thread, metal

Dimensions Download CAD data � www.festo.com

GRO-M5-B, GRO-1/8-B

1 Cover cap GRK � 5

2 Hex nut GRM � 5

Type Connection B1 D2 D3 D4 H1 H2 H3 H4 H5 H6 H7

max.

L1 L2 ß 1 ß 2

D1  min. max. ±0.1

GRO-M5-B M5 14 4.3 M10x1 8 35 41 25.2 16 12.5 7 4.7 2.5 26 18 13 8

GRO-1/8-B Gx 16 4.3 M12x1 8 40.6 46.5 30.8 22 17.5 9.2 9 3.5 32 24 14 8

Dimensions Download CAD data � www.festo.com

GRO-1/4

Type Connection B1 D2 D3 H1 H2 L1 L2 ß 1

D1  

GRO-1/4 G¼ 28 18 16 32.5 26.5 52 30 24

Ordering data

Pneumatic

connection 1

Pneumatic

connection 2

Standard nominal flow rate qnN

at 6 > 5 bar in direction of flow control

Weight Part No. Type

[l/min] [g]

Knurled screw

M5 M5 105 19 151214 GRO-M5-B

Gx Gx 210 31 151216 GRO-1/8-B

G¼ G¼ 350 80 2109 GRO-1/4



2018/05 – Subject to change 5� Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Accessories

Hex nut GRM

For front panel mounting

Material: Steel

Ordering data

For type Description Part No. Type

GRO-M5-B Thread M10x1 6444 GRM-M5

GRO-1/8-B Thread M12x1 2107 GRM-1/8

Cover cap GRK

Material: PP

Ordering data

For type Description Part No. Type

GRO-M5-B Thread M10x1 6436 GRK-M5

GRO-1/8-B Thread M12x1 2105 GRK-1/8



Subject to change – 2018/056 � Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Technical data – Push-in connector QS, polymer

Function -M- Flow rate

85 … 245 l/min

-Q- Temperature range

–10 … +60 °C

-L- Operating pressure

0 … 10 bar

General technical data

Valve function Flow control function

Pneumatic connection 1 QS-3 QS-4 QS-6

Pneumatic connection 2 QS-3 QS-4 QS-6

Adjustment component Knurled screw

Type of mounting Via through-hole

Front panel mounting

Via accessories

Mounting position Any

Operating and environmental conditions

Operating pressure [bar] 0 … 10

Operating medium Compressed air in accordance with ISO 8573­1:2010 [7:4:4]

Note on operating/pilot medium Operation with lubricated medium possible (in which case lubricated operation will always be required)

Ambient temperature [°C] –10 … +60

Temperature of medium [°C] –10 … +60

Storage temperature [°C] –10 … +40



2018/05 – Subject to change 7� Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Technical data – Push-in connector QS, polymer

Standard nominal flow rate qnN at 6 > 5 bar

as a function of turns of the adjusting screw n

Standard flow rate qn at 6 > 0 bar

as a function of turns of the adjusting screw n

GRO-QS-3, GRO-QS-4 GRO-QS-3, GRO-QS-4

GRO-QS-3

GRO-QS-4

GRO-QS-6 GRO-QS-6

GRO-QS-6



Subject to change – 2018/058 � Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Technical data – Push-in connector QS, polymer

Materials

Sectional view

Flow control valve

1 Adjusting screw High-alloy steel

2 Housing PA, reinforced

3 Releasing ring POM

– Seals NBR

Note on materials RoHS-compliant

Dimensions Download CAD data � www.festo.com

Knurled screw

1 Cover cap GRK � 9

2 Hex nut GRM � 9

Type Tubing O.D.

D1

B D2 D3 D4 H1 H2 H3 H4

  min. max.

GR-QS-3 3 14 M10x1 4.3 ±0.1 7.9 –0.3 35 41.5 5.55 12.2 15.7

GR-QS-4 4 14 M10x1 4.3 ±0.1 7.9 –0.3 35 41.5 5.55 12.2 15.7

GR-QS-6 6 16 M12x1 4.3 ±0.1 7.9 –0.3 40 46 8.4 17.3 21.3

Type H5 H6 H7 H8 H9 H10 L1 L2 L3 ß 1 ß 2

max.

GR-QS-3 24.9

4.5 3.5

3.2 2.5 50.9 41.8 36 18

8

13

GR-QS-4 24.9 3.2 2.5 50.9 42.4 36 18 13

GR-QS-6 30.1 2.8 3.5 46.1 51.6 43 24 14

Ordering data

Pneumatic

connection 1

Pneumatic

connection 2

Standard nominal flow rate qnN

at 6 > 5 bar in direction of flow control

Weight Part No. Type

[l/min] [g]

Knurled screw

QS-3 QS-3 85 12 193971 GRO-QS-3

QS-4 QS-4 110 12 193972 GRO-QS-4

QS-6 QS-6 245 22 193973 GRO-QS-6

1

2

3



2018/05 – Subject to change 9� Internet: www.festo.com/catalog/...

Flow control valves GRO, in-line installation
Accessories

Retainer GR-H-QS

For mounting on a flat surface via M3

screws. The flow control valve is

snapped into the retainer. The

retainer can be fitted in any position.

Material: POM

Free of copper and PTFE

Linking of multiple retainers via

dovetail slot

Dimensions and ordering data

For type B B1 D



D1



D2



H H1 H2

GRO-QS-3, GRO-QS-4 14.3 1.9 9 3.2 6 16 12 5.7

GRO-QS-6 19.8 1.9 14.5 3.2 6 19.2 13 5.7

For type H3 H4 L L1 Weight Part No. Type

[g]

GRO-QS-3, GRO-QS-4 4.1 3.4 31.8 24 4 195495 GR-H-QS-3-4

GRO-QS-6 2.3 3.4 31.8 24 5 195496 GR-H-QS-6-8

Hex nut GRM

For front panel mounting

Material: Steel

Ordering data

For type Description Part No. Type

GRO-QS-3, GRO-QS-4 Thread M10x1 6444 GRM-M5

GRO-QS-6 Thread M12x1 2107 GRM-1/8

Cover cap GRK

Material: PP

Ordering data

For type Description Part No. Type

GRO-QS-3, GRO-QS-4 Thread M10x1 6436 GRK-M5

GRO-QS-6 Thread M12x1 2105 GRK-1/8



Festo - Your Partner in Automation

www.festo.com

Connect with us

www.festo.com/socialmedia

1 Festo Inc. 2 Festo Pneumatic 3 Festo Corporation 4 Regional Service Center

5300 Explorer Drive
Mississauga, ON L4W 5G4
Canada

Av. Ceylán 3,
Col. Tequesquináhuac
54020 Tlalnepantla, 
Estado de México

1377 Motor Parkway
Suite 310
Islandia, NY 11749

7777 Columbia Road
Mason, OH 45040

Festo Customer Interaction Center
Tel:     1 877 463 3786
Fax:    1 877 393 3786
Email: customer.service.ca@festo.com

Multinational Contact Center
01 800 337 8669

ventas.mexico@festo.com

Festo Customer Interaction Center
1 800 993 3786
1 800 963 3786

customer.service.us@festo.com

Su
bj

ec
t t

o 
ch

an
ge


	Flow control valves GRO, in-line installation
	Product range overview
	Type codes
	Flow control valves GRO, in-line installation
	Technical data – Female thread, metal
	technical data
	Sectional view
	Dimensions
	Ordering data


	Accessories
	Hex nut GRM
	Cover cap GRK

	Technical data – Push-in connector QS, polymer
	technical data
	Sectional view
	Dimensions
	Ordering data

	Accessories
	Retainer GR-H-QS
	Hex nut GRM
	Cover cap GRK



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (Apple RGB)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 120
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 120
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (U.S. Web Coated \(SWOP\) v2)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks true
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


